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M13 Miscellaneous examples. J235

1. Four gentlemen agreed to dine together, so long as

they could sit every day in a different order or position
;

how many days did they dine together 7

Had there been but two of them, a ahd h, they could sit

only in 2 times 1 (1x2=2) different positions, thus, a b,

and b a. Had there been three, a b and c, they could sit

in lX2X3=(i different positions; for, beginning the order

with a, there will be two positions, viz a b c, and a c b;

next beginning with 6, there will be two positions, b a c^

and bca; lastly, beginning with c, we have c ab^ and cba,
that is, in all, 1X2X3=6 different positions. In the same
manner if tlvtre be four, the different positions will be

1X2X8X4=24. y|«5. 24.

Hence, to find the number of different changes or per-

mutations, of which any number of different things are ca*

pable,—Multiply continually together all the terms of the

natural series of numbers, from one up to the given number,

and the last product will be the answer.

2. How many variations may there be in the position of

the nine digits ? Ans. 862880.

3. A man bought 25 cows, agreeing to pay for them one

penny for every different order in which they could all be

placed ; how much did the Cows cost him ?

Aas. i:6463004184T2l2441600000.
4. A cei'tain church has 8 bells ; hoAv many changes may

be rung upon them ? Ans. 40320.

MlSCELLANE^OUS EXAMPLES.
51 113. 1; 44- ;x7—1=^=60.

A line, or vinculum, drawn over several nun\bers, signi-

fies that the numbers under it are to be taken jointly, or as

one whole numbi

Ans. 30.2. 9—«-|-'4X8-f-4—6=how many ?

Ans. 230.3. 7-1-4—

2

4-3-f40X5—how many?

3-J.6—2X4—

2

4. 2X2 =howmany? Ans.^^.

5. T^iere are 2 numbers ; the greater is 25 times 78, and

their difference is 9 times 15 j their sum and product are

I


